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  : ــ ��� ����ع ا����
�ت ا������  1
u v+� uو  � u′−� vو  � w+� �

uو   w′ −� �
  

� د���ر��  2��)ــ �� � )O i jR , ,
� �

  �
uإ"!ا ��ت ا����
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uه� آ������  3i 5 j= −
� ��

vوإ"!ا ��ت   i 2j= − +
��

   

 ���� ا�'&�&� �� ��(��) ���( )O i jR , ,
� �
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uا����
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vو  
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 ���uأ"), ا��!اء ا�) v.
� �

)�وا�0�1/ ا�.او��   )u v,α = � �  

�2
��� ا�   


�  Bآ4ة ����2)� ��Mآ� 6kg=  *�(�   1ا2>4 ا�;�� . ��9��* و �����!�*  BCو  AB��ق �)����* أ�

   Bــ ا4Bد ا�&�ى ا��@?&� <�= ا��4ة  1
�= ا��?���2  2> ��  ــ ��� هDE ا�&�ى (!ون 1

BC  )ABRو  ABــ (��1���ل ا�@�4&� ا��?����2 أوI !B!�� ا�&���* ا��@?&��* �* 4Hف آ� �* ا��)����*  3
�

BCRو  
�

 ( =�>

���60αن زاو��  BC(�<�?�ر أن ا��)��ى  Bا��4ة  = ° �&�Nا��)��ى ا O�  . �@�2g 9,8N / kg=  
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�  Bآ��4 ���&� ��  mآ��2��?4ه� 2&@� ��د�� ، � ��
� �
>��Iو  
 ��)�  �@&2A  R�S �@1ا�)AB  ق�� �>�T�� ، د!���� �)�U 4�V  

 W>��I X�  وا�)@A  Zا��)��� (�* ا�Z@1r  . �@&0 آ4وي أ�
�HABل ا�^�AC=d  . Rا��4وي  = ℓ �  أ2>4 ا�;�� . رأAO  �1وا��)�&�

 R�^4ي ���4 ا��?�  : ه�� آ������  Rو�a �4 ا�)@Z ا��4وي  T(�* أن �

T mg
d r

=
+
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R mg
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=
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 �c�'�2)���� ا�@�4&� ا��?����2 : � .  
  
  
  
  
  
  
  
  
  

 ��Bر�* ا��4ا��� )��Tم ر����  )و <��م ���4?��  اNو�= (����ر�� <
 �(�  2010ــ  2009ا��f.اء وا������ء  0ا�)
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��<W ) 2(���� ا�;�� I ، ���
� W���!وران "�ل �'�ر أ�&�  �h4Ur آ�� �)�U ،∆  D.4 �* �4آ�� i)� O  , ��@U i?�2(S)  *�
 �
���!  A�� ا�m  �@&0ا��h4ص آ�) =��r* ا�&4ص < / �m <0! ا��&@� .  �O* ا��4آ. 2� Bو��'�fظ <�= ��ازن ا�&4ص ، 2

 ��(B(C)  W��1mآ� 20g=  .  

  . ــ أ4Bد ا�&�ى ا��@?&� <�= ا�&4ص  1
2  ���?�4 ا���� !Bوم ، أو.�  .  mأ"), .  ��o!)m1 ا�����  mــ (�@?�m �?4ه�0 ا�

3  �Fو2��! ا�&4ص إ�= ��OT ��ازW2 اNو�� �U m�?@�)ة  (C)ــ 2.�� ا��(
�

  ) 3(ا�;�� . �* ا�&4ص  Eأ�&�� <0! ا�0&@�  

�?�4 <.م ا�&�ة  1ــ  3� !BأوF
�

(��0)?� ���'�ر∆ .  

F، أوB! <?�رة I!ة ا�&�ة  (�@?�m �?4ه�0 ا��.وم 2ــ  3
�

 ��o!)m,g,α  . ا�;!ة ���U ,("أF  ���" ��60α = ° . �@�2

g 10N / kg=  
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�1
��� ــ ا�  

rر�!ر���2��?4 ا��s�" *�) �>�f ا��( )H aq C aq+ −+ ℓ  0.��مt�وا�Mg  ا��0ا�/ ا������ =�> �u'2 v�" : 0.��مt�أ��ن ا�
2Mg +

 

�.  �9�0 وV *�Bرو!�
): <0! اw@2ق ا���f<� �!��0 ا�'��� ا�?!��9 ا������ . ا� )( )i aqn H 2mol+ )و = )in Mg 2mol=  

1  �
  . ــ أآ�, ا����د�� ا��������9  �
Eا ا���f<� و واز2
���f<� ا��!ول ا�(�x<���د <�= ــ  2� �fh� :  
  . "!د ا����f<� ا��'! ����f<�  1ــ  2
  maxxأ"), ا��&!م اuUN=  2ــ  2

�� ا���دة <0! ���ن وا�0�1/  3ــ  2�u"0,25mol و *�Bرو!�
0! 2
��� ا���V *�  �>�fز  �9�0 ا�> .  

�2
��� ــ  ا�  

��ل 4�2ات ا�w2 ، �|f"} ���ن ا�2��Nت  �fh 4�V !0>Cu'� �* ا�0'�س '� ��Cu2+  �|fا� .�� OTو��Ag  .  
1  �>�fا ا��E
  . ــ أآ�, ا����د�� ا��������9 �
2  �S!2 0,127ــg  �� �20* ا�0'�سmL D.4آ�� �|fل ���9 �4�0ات ا���'� *�0,15mol / L  .  

��  (mmol)ب  xا��&!م  1ــ  2>�f��ه� آ��� ��دة ا�0'�س ا� . �|f4ات آ��� ��دة ا�0'�س وأ���2ت ا��t� ��<0ا� Xf2 =�> ���
  .  ��o!)x ا��&!م 

���f<� : �?����2 ا�0�1/  2ــ  2� =uUNا��'! وا��&!م ا �>�f��ا� .  
�� ا���دة �� ا�'��� ا�0
���9  3ــ  2�u" .�2أ  
�� و�4آ�. ا�2��Nت  4ــ  2T���ا� �|fا� ��  . ، �� ا��'��ل ، �� ا�'��� ا�0
�Cu2+  ��9ا"), آ�
  
 
 


